=
o
w

Ilﬂ] IIIIIIII| 1T

do/dAn [mb]
2

=
o

|IIII|I|||“IIIIII[|] IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIH] IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII|=A
#
1+

Ratio to Herwig 7.2.1 default
[N

o
&

7000 GeV pp

Soft QCD

1

(pT > 0.2 GeV)

| IIIIIIII| IIIIIIII| IIIIIIllI |IIIIIII| [ I}

Y
L LI

--f3-- Herwig 721 default
----- ¢ Sherpa 2.2.9 default

.

I

L1l III|III1-“—|-IIIIIll| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIllI II%IIIII|

| _
¢

Rivet 3.1.10, = 3.2M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


